46

(

)

17

24

20

21 2 13

H18 2065 H19 2548 20 3232 H21 3871
H18 2536 H19 2231 20 2868  H21 3,027
415,167,000 305,000,000 73.5%
91692000  22.1%
21
H18 H19 H20 H21
2
1
14 13 13 13
2 2 2 2
22 22 24 23
3 3 5 5
35 23 24 31
23 23 26 25
49 36 37 44
3 3 6 5
6l 3,090 49 | 6,812
(A) 706,002 (734517) 341,051  (386,156)
(B) 668,389 (704,034) 120802 (130,707)
(A)-(B) 37,613 (30,483) 220249  (255,449)
37,602 (30,483) 0 0
909  (884) 241 (24.) 26506  (24,556)
1056  (104.3) 7831 (1,1485) 36,866 0)
324  (324) 3832 (3812) 900,000 0
141 (116) 934 (924) 0 0
51 (108) 69.2  (685) . 0
678 (638
( 214,874 (227,390)

21

20 4




19 20 21

(A 670,333 734,517 706,002
2,163 1,967 3,249
3271 3184 2,895
161,199 134,839 92,262
430,680 468,439 478,983
372,640 386,156 341,051
(B) 635,276 704,034 668,389
544,847 622,079 607,812
544,847 622,079 607,812
150,881 174,148 161,549
90,428 81,955 94,554
11,006 3,542 7,018
52,874 50,152 48133
(C)=(A)-(B) 35,057 30,483 37,613

D) 11,110
(E) 275 11,110 11
(F)=(D)-(E) 275 0 11
(G)=(C)+(F) 34,782 30,483 37,602
(H) 1,467,365 1,471,147 1,501,630
()=(G)+(H) 1,502,147 1,501,630 1,539,232

() 0 11,110
(K) 334,585 365,585 354,475
(L)=)+(K) 334,585 354,475 354,475
(M)=(G)+(J) 34,782 19,373 37,602
(N) 1,801,950 1,836,732 1,856,105
(0)=(M)+(N) 1,836,732 1,856,105 1,893,707

19 20 21

637,017 634,806 585,511
300,445 377,412 430,423
7,291,581 7,074,630 7,256,110
415,167 415,167 415,167
227,285 248,482 267,985
5,994,329 5,919,058 6,319,653
254,632 256,942 257,264
882,085 740,405 521,290
7,928,598 7,709,436 7,841,621
77,417 55,275 74,767
12,000 16,000 16,000
49,885 32,327 53,182
6,014,449 5,798,056 5,873,147
5,445,555 5,267,258 5,408,000
254,632 256,942 257,264
6,091,866 5,853,331 5,047,914
334,585 354,475 354,475
323,475 323,475 323,475
11,110 31,000 31,000
1,502,147 1,501,630 1,539,232
91,602 91,602 91,602
9,405 9,561 18,086
1,836,732 1,856,105 1,893,707
7,928,598 7,709,436 7,841,621




